(4.12) A radioactive sample was measured at different time intervals. Determine the half-lives of the two
nuclides (not genetically related) in the sample and their activities (in Bq) at time t=0. The background of
the detection device was 100376 counts per 1000 min; its counting efficiency was 17%.

Calculations and graphing below gives: half-lives 4.4 and 107 hours. Corresponding zero time activities
are: 1030 and 98 Bg. This shows an alternative trial and error method instead of the normal graphical
solution.
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